
I	dag	skal	vi	u,orske	en	ny	
noom.	Kan	dere	se	den?	
Nemlig,	den	er	usynlig!	

Hvor	mange	enere	er	det	i	
den	usynlige	noomen	her?	
Er	det	2	enere?	

Kanskje	er	det	3?	Den	er	
like	lang	som	en	3er.	La	oss	
sjekke	med	
røntgenmaskinen.	Ja,	det	
er	3	enere.	Den	usynlige	
noomen	er	en	3er.		

Hvor	mange	enere	er	det	i	
den	usynlige	noomen	nå?	
Er	det	3	enere?	



Hvor	mange	enere	er	det	i	
den	usynlige	noomen	nå?	
Er	det	5	enere?	

Den	er	like	lang	som	en	
5er.	La	oss	sjekke	med	
røntgenmaskinen.	Ja,	det	
er	5	enere.	Den	usynlige	
noomen	er	en	5er.		

Den	er	like	lang	som	en	
2er.	La	oss	sjekke	med	
røntgenmaskinen.	Ja,	det	
er	2	enere.	Den	usynlige	
noomen	er	en	2er.		


